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BACHELOR'’S DEGREE PROGRAMME

Term-End Examination
December, 2016
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ELECTIVE COURSE : HISTORY

EHI-06 : HISTORY OF CHINA AND JAPAN

1840 - 1949

Time : 3 hours

Maximum Mdrks : 100

Note: The question paper has three sections. The
students have to attempt any two questions in
about 500 words each from Section I, any
four questions in about 250 words each from
Section II and any two short notes in about
100 words each from Section III. The marks are

indicated-against each question.

SECTION 1

i. What was the nature of the Chinese response to

Western imperialism in the second half of the

19tk century ?

20

2. Discuss the evolution of Meiji political system

and its major characteristics.
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8. Discuss the socio-political conditions of China -

leading to the emergence of Marxism. 20

4, Which factors helped Japan to embark on the
path of rapid economic development after World
War II ? : 20
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5.

6.

- 7.

9.

10.

11.

12.

SECTION II

What was the impact of Warlordism on Chinese
society ?

Explain the various ideologies behind the
expansionist policies of Japan.

What led to the Taiping uprising ? Why did it
fail ?

What were the political and economic
implications of the Allied occupation of Japan ?

Analyse the various factors responsible for the
early 19*® century crisis in China.

Write a note on the social structure of Japan
during the Tokugawa period. - .

Discuss the role of the bourgeoisie in China after
the 1911 revolution. '

Trace the development of Buddhism in Japan.

- 12

12

12

12

12

12

12
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SECTION III

18. Write short notes on any #wo of the following in
about 100 words each : 6+6=12

(a)
(b)
(©)
(d)
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Self-strengthening Movement in China
Saﬁlurai
The Korean Question

The Wuchang Rebellion
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